
Year 2 
Quick Maths

Autumn – Week 1



1 9 + 6 = ___ /1

2 One more than 11 is ___. /1

3 20 = ___ + 15 /1

4 100 – ___ = 90 /1

5 7 + 6 + 3 = ___ /1
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1 9 + 6 = ___ /1

2 One more than 11 is ___. /1

3 20 = ___ + 15 /1

4 100 – ___ = 90 /1

5 7 + 6 + 3 = ___ /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 1 | Answers
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1 37 – 11 = ___ /1

2 10 – 5 is equal to ___ + 3. /1

3 63 + 24 = ___ /1

4 51 + ___ = 71 /1

5 6 × 2 = ___ /1
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1 37 – 11 = ___ /1

2 10 – 5 is equal to ___ + 3. /1

3 63 + 24 = ___ /1

4 51 + ___ = 71 /1

5 6 × 2 = ___ /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 2 | Answers
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1 35 + 19 = ___ /1

2 4 × 5 = ___ /1

3 41 – 15 = ___ /1

4 10p + 3p + 2p + 10p = ___p /1

5 ___ × 3 = 30 /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 3 
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1 35 + 19 = ___ /1

2 4 × 5 = ___ /1

3 41 – 15 = ___ /1

4 10p + 3p + 2p + 10p = ___p /1

5 ___ × 3 = 30 /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 3 | Answers
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1 48 – 12 = ___ /1

2 10 – 4 is equal to ___ + 1. /1

3 57 + 41 = ___ /1

4 43 + ___ = 73 /1

5 2 × 9 = ___ /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 4 
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1 48 – 12 = ___ /1

2 10 – 4 is equal to ___ + 1. /1

3 57 + 41 = ___ /1

4 43 + ___ = 73 /1

5 2 × 9 = ___ /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 4 | Answers
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1 19 + 24 = ___ /1

2 5 × 6 = ___ /1

3 53 – 16 = ___ /1

4 10cm + 5cm + 3cm + 10cm = ___cm /1

5 ___ × 10 = 70 /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 5 
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1 19 + 24 = ___ /1

2 5 × 6 = ___ /1

3 53 – 16 = ___ /1

4 10cm + 5cm + 3cm + 10cm = ___cm /1

5 ___ × 10 = 70 /1

Year 2 | Quick Maths | Autumn | Week 1 | Day 5 | Answers
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